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SSC COMBINED GRADUATE LEVEL TIER-1EXAM
FIRST SITTING Exam Held On : 16-05-2010

. o 18, (1) ZKXJ (2) CMAL 21, 3,4,7, 11, 18,290, _2_
PARTA .1 4 (3) TGRF ) FRTK (1) 31 (2) 39
GENERAL INTELLIGENCE | | 14, (1) ABJNM (& QRTUZ (3) 43 (4) 47
& REASONING 4 (3 IXYOQ {4) WFGOP 22 ‘"‘fﬁ‘r'“‘ﬁﬁ%‘?‘ EKQWC. _? |
: Arrange words ac- 10UAG. :

Directions (1-8) : n each of the | 15 FHEURE 0 B0 PR (1) GMSYE  (2) FMSYE
inllowing questions. select the related w5 GNSYD 4) FMYES
letters/word/number from the given 1. Inventory 2. Involuntary @ :
alternatives. 3. Invisible 4, Invariable 23. 975, 864, 753, 642, __ 7
1. ACEG : SUWY :: BDFH : ? 5. Investigate :” ;:1 ﬁ: g;;

(1) TVZX (2) RTZV 0425631 @&45132| :’24 b 2 1 e

13 TVXZ 4) RTVZ (32 5.4, 1,3 441532 ) {1'] 21?; ’ . {‘li 8

M N O, 18, Find the next two letters in the ) 46 @) 38
* E:E::E: | IS, peries, 28. Ashok's mother was 3 times as old
P g BGEHLYY as Ashok 5 years ago. After 5 years
m AF @ AB (1) XY (2) MN she will be twice as old as Ashok.
P R (3) QW (4) OP How old Is Ashok today ?

B e ¥ 5 17. Which one set of letters when se- (1) 10years  (2) 15 years
3, 5-;?--94 quentially placed at the gaps in the (3) 20 years  (4) 25 years

[|]- 83 o {7 81 given letter series shall complele | og s the son of P. @ ts the grand

) it? LR : daughter of O who is the husband

b W 12 a_h_a_. _n_bb_abbn of P. How is M related 10 O ?

4 B:11::11:°? (1) abnabb 2) babban fi) $m ) Dasghics

e 217 (3) bobbna . (4) babban (3) Mother (4] Father

13 20 (41 30 18. Find out aset of numbers amongst | 27. In a row of boys, Srinath is 71h
8. ABE:8::KLO:? the four sets of numbers given in from the left and Venkat is 12th

(1) 37 (2) 39 " the alternatives, which is the most from the right. If they interchangr

(3) 38 (4) 36 similar to the numbers given in the their positions, Srinath becomes
6. Sty: Pig:: Byre:? question. |, 22nd from the lefl. How many boys

(1) Eagle (2) Cow Given,#46, 30, 90) are there in the row ?

(3) Tiger (4) Hen [1] 6,42, 86 (21 7. 42, 218 (h 19 (2) 31
7. Patrol : Security - : Insurance : ? (36, 24, 70 [4).8, 48, 192 13) 33 (4) 34 N

o™ | g | % [T

(3) Sa {4) Risk given serles ? e
8. Anscvtrﬁlm LK £ ? 126, 08, 70. 41, 14 m‘inﬂ":'g the letters of th

(1) MOPN (3) MPRNO (1) 98 12) 70 Given : IMPASSIONABLE

(3 ORPQ  (4) MPON (@126 (@ 41 (1) IMPASSABLE

Directions (8-14) : In each of the | 20. Arrange the following in the mean- (2) IMPOSSIBLE
following questions, select the one ingful/logical order: . 13) IMPASSIVE
which is different from the other three 1. Exhaust 2. Night § " ) IMPASSION
reaponses. 3, 45}&& ‘ - an be
9. (125,36 (2144, 169 S ’ e e e Ktter

131 100, 121 (4] 9. 64 (11,8524 2035 1,42 of the given jumbled word. Find
10. (1) Heat (2) Light (33,5 1,2, 4 (43,52 1,4 out that word.

(3} Bulb (4) Electricity Directions (21-24) : In each of Given : MUSPOPAPOTIH
11. (1) Wave (2) Current the following questions, a serfes isgiven | (1) METAMORPHIC

(3) Tide (4) Storm with one term missing. Choose the cor- [2) PHILANTHROPIST
12. (U X 2y recl alternative from the given ones that (3) HIPPOCAMPUS

(3 H 4D will complete the series. {41 HIPPOPOTAMITS

1



30. Which pumber Is wrong inthe | 38, 1T

given series ?

. g, 25, 50, 81

[ih-1 12) 25
{3 5O {4) 81

31. A bus leaves Delhi with
number of women as men; At
Meerut, ten

women get in, Now there are

number of men and women. How |

many passengers boarded the bus
initially at Delhl ?
(1} 36 12) 45
(3 15 (4) 30
I the day before yesterday was
Sunday, what day will it be three
days afler the day after Lomarrow 2
(1} Sunday (2) Monglay
(3 Wednesday (4] Salwrday
Directions {33} : In the following
question, one statement is given fol-
[nweed by two assumptions | and 1. You
huwve to consider the statement to be
trise even if it seems to be at varlance
trom commonly known facts. You have
10 teclde which of the given assump-
tinns, 1 any, follew from the ghven stale-
et
33. Statement : Politicians become

rich by the votes of the people,

Assumptions :

1. People vote to make politicians

rich.
Il Politicians become rich by their
virtue.

(1) Only1 is implicit

(2) Only Il s implicit

3] Both I and [} are impliclt

{4} Both 1 and II are not implicit

Dlrections (34) : In the following
question, two statements P and Q are
givert ollowed by four conclusions 1,
1 111 and IV. You have to consider the
Lwo stalements (o be true even if they
secem Lo be at varlance from commonly
known facts. You have to decide which
of the given conclusions, if any, follow
Lhe given statements,
34. Statements :

P. All men are women.

Q. All wormen are crazy.

Conclusions ;

I, All men are crazy,

11. All the crazy are memn.

1. Some of the crazy are men.

IV. Some of the crazy are women,

[1} None of the conclusions follows

12} All the conclusions follow

(3 Only 1, 1l and IV follow

i41 Onlby 1l and HI follow

32,
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a9,

41.

SHAOIE s

p
() 52818
@ 725t
Fmdthgmi.nmgmmbﬂﬁunut
given reanonees.
173 (24} 526
431 (18) 325
253 (7] 471
() 22

(2 42
i3 30 408
Alter interchanging rl-.jmdh 12

and 18, which ﬂw UFO\\"-
ing equations e mmt?.

(1) (80 x 18) + 18 2 60
218+ 6+ 1222
(3) (72 +18) :_ts_-_ﬂ_
4) (12 + 8) x 18 =38 r
If SPARK 16 coded 48 TQBSL, what
will be the code fdr FLAME ?
() GMBNF (2 GNBNF
(3 GMEND . (4) GMBMF
Firid out thE correct angwer for the
unsolved squgtion on the basis of
the given equations,
I 6*8=01"

8*7=189

10°7 =211
then 11*10=7 "
(1) 331 (2) 993
(3 678 ‘(4) 845
A child is Jooking for his father.
He went 90 metrc.!. in ﬂle easl
before turnirig to his right. He went
20 metres before tu to his
right again 1olook for his father at

“his uncle's place 30 metres from

this point. HisTather was nol
there. From here he went 100
metres to his north befoce meet-
ing his father in a street. How lar
did the son meet his father from
the starting point ?

{1} 90.m (2) 100 m
(3)260m {4) 140 m

In the following question, A stands
for any of the mathematical signs
at different places, which are
given as choices under eath ques-
tion. Select the choiee with the
correct sequence of aigns which
when substituted makes the ques-
tion as a correct equallon.
24848844
(1 x+= ) =x +
{3+ x= M)=+x

AapngTom
the third target ?
: 8
?
147
i1 45 (2) 48
(3 81 4) 54

43. In a clasaroom, there are 5 rows,
i#nd B hildren A. B,C/Dand E
are segted ane behind the other
_Ip 5 peparate rows 8 (ollows :

A s sitting behind C, but in front
of B.

C s sitting behind E. D is sitting
in front of E.

The order In which they are sil-
ting from the first row to Lhe last
s

(1) DECAB 2 BACED
{3) ACBDE (4) ABEDC
Little wooden cubes each with a
_ side of one inch are pul together
1o form a solid cube with a side ol
three inches. This big cube is then
painted red all over on the outside.
When the big cube is broken up
into the orlginal litile ones, how

many cubes will have paint on two
gides ?

1) 4 28

312 4) O

K ia a place which is located 2 ki
away In the north-west direction
from the capital P. R is another
place that ia located 2 km away in
the aouth-west direction from K.
M is another place and that is lo-
cated 2 km away in the north-west
direction from R. T is yet another
place thal is located 2 km away in
the sduth-west direction from M.
In which direction is T located in
relationto P 7

[1) Sguth-west (2] North-west
(3) West {4} North

Find out which of the diagrams
given in the alternatives correctly
represents the relationship stated
iny the question.

Sharks, Whales, Turtles.

» 000 #(©)
co @

{310



Dirsctions (47] : In this question,
among the four answer figares, which
flgure can be fonned from the cut-
pieces given below In the queation fig-
ure,

47. Guoastion Figure
Answer Mgure
(1 i2) {3 (4
48. How many triangles are there In
the following Ngure 7
{1 (21 13
(9 (4] 15
49. From the given answer figures,
select the ane in which the ques-
tion figure is hidden /embedded In
the same dlrection.
guestion Figure
Answer Flgures
(1 i2) {3 4
80. Which answer figure ts the exatt
mirror image of the ghvén question
figuire when ithe mibrror is held from
the right at PQ ?
feoation
P
W
Anywer figures

Mm@ @
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PART-B
GENERAL hwmﬂmﬂ

81, A concave lens always forms an
image which 1s
(1) real and erect
{2) virtual and erect
(3) real and Inverted
(4) virtugl and inverted

B3. A vitamin requires coball for its
activity. The vitamin is
(1) Vitamin B, (2) VitAmin D
(3) Vitamit B, (4) Vitamin A

83, One of the constituents bf tear gas

Y
(1) Ethane {2) Ethanol
{3) Ether 4 Chigropierin

B4, The mothelus of rigidity is the ra-
tio of
i1} lengitudinal stress to longliu-
dinal strain
(2} Volume stress (o volume straln

{3} shearing stress to shearing
strain

(4} tenalle ptress to tensile sirain

88. The propagation of sound waves

in a gaa Involves
(1) aciabatic compression and rar-
efartion
(2} isgthermal compresalon and
rarefactlon
(3} lsochoric compression and rar-
efaction’ 4
{4) isobaric compression and rar-
efaction
88. ‘An stomic ciock is bwsed on tran-
sitions In
{1} Eodium 3 Caesfum
{3) Magnesium  (4) Alumindum
B7. Plasma membrane in -cukdryotic
cells 1s made up of
(1) Phospholipid
(2] Lipoprotein
(3 Phospholipo-protetr
{4} Phoapho-protain
88. Whichi orre of the followtnz Is alen
called the ‘power plants’ of the
esll ? .
{1) Golgi body
{2) Mitochonmdrion
{3) Ribbeoroe
{4) Lysosome
. What is the chemleal name of vin-
egar ? :
(1} Citric mcld - (2) Acetic arid
(3) Pyruvic actd (4) Malic acid

3

80. Which of the Bllowlng is not o
property of heavy water ?

(1) Bolling point of heavy water is
tower than that or ordinary
water

(2] Density of heavy water is
higher than that of ordinary
waler

{3} Freezing point of heavy water
15 higher than that of ordinan
waler

(4} It produces cormasion

81. In which of the following processes
i3 energy released ?

11] Resplration

12} Photosynthesis

(3] Ingestion

(4} Absorpuon

62. Anjmal.a Iving in the three trunks
are krnown as

(1) Arboreal {2) Volan

(3) Amphilious  [4) Aguatic

83. Arrange the following in chronn
logical order ;

L. Tughlags 2. Lodis
3. Sapyids 4, har Turks
5. Khil|ls

(11,2345 12)5 4.3 2.1
(3124531 445132
The book ttled “The Indlan War ot
Independence’ was written Iy

(1) Krishna Verma
(2] Madame Cama
{3 B.G. Tilak
14) V.D. Savarkar
Who was the founder ol the ‘Ser
vanis of Indla Society” ?
{1) G.K. Gokhale
{2 M.GC. Ranade
{3 B.G. Tilak
{4) Bipin Chandr Pal
6. The term 'Caste’ was derivid Do
{1) Portuguese  {2) Dutch
1A German {4) English
B87. Theterm “Greater India™ denotes
{1} Political unity
2} Cultural unity
{3 Religlpus vnity
(4) Social unity
Formalised sysiem of trading

agreements with groups of coun-
tries is known as

(1) Trading blocks
[2] Trade ventures
3} Trade partners
{4} Trade organisationa
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68,

70.

71,
72,

73.

74

73,

76.

78,

Mahalma Gandhi was profoundly
influenced by the wrilings of

(1) Bernard Shaw

(2) Warl Marx

[3) Lenin

(4] Leo Tolstay

Selsmic sea waves which approach

the coasts at greater force are
known as

(1] Tides (2) Tsunami

i3] Current (4] Cyclone
Depression formed due to deflat-
ing action of winds are called

il] Flayas (2] Yardang

{3 Ventifacts  (4) Sand dunes

The land of maximum biodiversity
is

i1] Tropical (2) Temperate
{3] Monsoonal  (4) Equatorial

Il input frequency of a full wave
rectifier be n. then output fre-
quency would be

n
1] 2 (2) n
113 *_32.2 (4 2n
Heat transfer hortzontally within
the atmosphere Is called
(1} Conduction
[2] Convection
13} Absorption
[4) Advection
Indian Standard Time relates to
(1} 75.5° E longltude

[2) 62.5° E longitude

[3) 90.5° E longltude

[4) 07 longitude

Who is rightly called the “Father
of Local Self Government” in In-
dia?

(1) Lord Mayo  (2) Lord Ripon
(2) Lord Curzon (4) Lord Clive

. The Directive Princlples of State

Policy was adopted from the
(1) Briush Constitution

(2} Swiss Constitution

(30 U.5. Constitution

(4) Irish Constitution

Which is the second nearest star
1o the Earth after the Sun 7

(1) Vega

(2} Sirius

13) Proxima Centair
(4] AlphaCentauri

1

7. The two forms of democracy are
{1) Parliamentary and Presidential
(2) Direct and Indireét .
(3) Monarchical and Republican
{4) Parllamentary and King

. Which Is an exira-Constitutional

body ?

(1) Language Commission

[2) Planning Commission

(3] Election Commission

[4) Finance Commission

The Prime Minister of India is

(1) Elected  (2) Appointed

(3) Nominated (4] Selected

82. Which is mot an All Indla Service ?

(1) Indian Administration Service
(2] indian Police Service
(3 Indian Foreign Service
(4) Indian Forest Service
B83. The {orest in Sunderbanis called
(1) Serub jungle -
(2) Mangrove
(3) Deciduous forest
(4) Tundra
B4. Noise is measured in
(1) Watt " 12 REM
(3 Centigrade (4] Decibel
88. Who amang the following capiured
his third consecutive National Bil-
liards title In the year 2009 ?
(1) PankajAdvani
(2) Devendra Joshi
(3) Geet Sethi
(4) Dhruv Sitawala

868, The Messenger Satellite launched:
by NASA Is to study
(1) Mercury (2} Venus
(3 Satum (4} Juplter

. What was the name of the ship

that sank near the Paradip/Port In

September, 2009 causing an oil

spill 2

(1] Red Rose (2} Black Rose

(3] White Rose (4} Green Rose

Who amang the following has been

honoured with the prestiglous

Dadasaheb Phalke Award for

20077 .

(1) Yash Chopra,

(2] Ustsad Amjad Ali Khan |

{3 Manna Dey

(4] A. Nageshwara Rao

89. An Intelligent terminal

(1} has a microprocessor; but can-
not be programmed by the user

Bl.

(2) can process small dala pro-
cessing jobs. with the use ol «
large CPU

(3) interacts with the user in En-
glish

{4) cannot take data from the uscr

90. Which one of the following is aot

a methed of estimating Natlonal

Income ? :

(1) Expenditure method

(2) Product method

(3) Matrix method

(4) Incomie method

8L The monetary policy s India 1= for-

mulatedby .

(1) Central Govérnmenl

(2} Industrial Financial Corpora-
tion of India

{3) Reserve Bank of Indla

(4) Industrial Development Bank
of India

A short-term government securily

paper is called

(1) Share . (2) Debenture

3 Mutualfund (4] Treasury hill

WTO basically promotes

(1) Financial support

{2) Global peace

{3) Untlateral trade

{4) Multilateral trade

Under which markevcondition do
firms have excess capacity ?

(1) Perfect competition
[2). Manopolistic mmpeliuph
(3) Duopoly
(4) Oligopoly
Price theory is also known as
(1) Macro Economics
{2) Development Economics
(3) Public Economics
{4) Micro Economics
B8, At present. India is following
{1), Fixed exchange rate
{2) Floating exchange rate
[3) Pegged up exchange rate
{4) Pegged down exchange rate
'97. Who among the following won the
‘1CC Cricketer of the Year Award'
for the year 2009 ?
(1) M.5. Dhoni
(2) Gautam Gambhir
(31 Mitchell Johnson
(4) Tillakaratne Dilshan
88. The bats can fly in the dark be-
cause

(1) they can see the objects in
darkness
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{2} they have weak legs and ‘are
likely to be attacked by preda-
tors

13} they generate flashes of light

{4} they generate ultrasonic sound
waves .

98. What changes will happen to a
bowl of fce and water kept at ex-
actly zero degree Celatus ?

{1} All ice will melt

{2) All water will become ice

(3) No change will happen

4} Omly some ice will melt .

100. Nalional Income is the
(1) Net Mational Product at mar-

ket price

{2) Net National Product at factor
cosl .

{3) Met Domestlc Product at mar-
ket price

[4] Net domestic Product at factor
coal

| PART-C
NUMERICAL APTITUDE

101. The HCF. and L.C.M, of two
numbers are 8 and 48 respec-
tively. If one of the numbers 1s
24, then the other number is
i1) 48 {2} 38
13) 24 {4) 16

102. The greateat number, which
when subtracted from 5834,
glves a number exactly diviaible
by each of 20, 28, 32 and 35, {8
11120 (2) 4714
{3 5200 (4! 5600

103. The ninth term of the sequence
0,3 815 24, 35, ... ia

1] 63 2) 70
(31 80 (4) 99
0125+ 0027
104, 025-015+009 is equal to
(0.3 21 0.5
(3 0.8 14) 0.9

108. The sum of the series

{1 +0.6+0.06 + 0.008 + 0.00086
+ ... 18

1

@ 13

2
m1= 3

1 2
2= =
3 23 “ 23

[0.009 x 0.036 x 0016 x 0.08
Y 0002 x 00008 x 0.0002
is equal to

Lo4.

n 34 (2) 38

‘13) 38 (4) 39
107. A number, when divided by 114,
leaves remmainder 21. Ifthe same
number is divided by 18, then

the remainder will be
i1 (2 2
A7 (4 17
108. The square root of 0.09 s
(1) 0.30 (2) 0.08
{3 0.8] (4) 0.081
100. The number 0.121212.... In the
P
form E is equal to
4 2
() 11 @ 11
4 2
B 33 @ 33
B -6
110. If 5)\5/ "\5 , then x
is equal to
-2 2 2
{3 -1 41

111. Twa numbers. are in the ratio
3 : 4; Thetr L.CM. is 84. The
greater number is
1) 21 (2 24
(3) 28 |4} B4

113. A drum of Kerosene is % full.

When 30 litres of kercaene is

i 7
drawn from it, it remains T full,

The capacity of the drum Is
(H1eot (2) 135 |
31501 #1801

113. By what least number should
675 be multiptied 8o as to oblaln
d perfect cube number ?
ma 2) 5
(3) 24 (4} 40

1 1 1 1
114, []2-1-112 12+ 7

Is equal to .
(1) 1238 f2) 1334-;'
i3 618 i4) 817

118, 0] Is equalto
1

1) Tooo 999
1 1
3 ) i4) 3

441 x016
2l x16x021
(11 (2] 0.1
(3) 0.01 4 10
117. If a and b arc two odd posilive

integers, by which of the follow
" ing integers is |a* - b") always

118 is simiplified 1o

divisible ?
(1 3 (2} 6
(3 8 4 12

118. f a = 11 and b = 9, then the

a®+h? +ab’

value of |77 37,37 s

l W

( 2 22

13 20 (4] 20

256 » 256 - 144 « 144

118, s egual 10

112

(1] 420 {2 400

{3} 360 (4 320

120. If o and b be positive integers
such that & - b* = 19, then the

value of a is
(1 19 (2) 20
39 t4) 10

121, Il the ratlo of cost price and sell
ing price of an artiele be as
10: 11. the percentage of profil
is
18 [2) 10
311 (4) 15

122. A manufacturer marked an ariicle

al Ra. 50 and sold it allowing 207
discount. If his profit was 25%
then the cost price of the anicl

was
(1) Rs. 40 2) Rs. 35
i3) Ra. 32 (4] Ra. 30

123. A shopkeeper earns a profit uf
12% on selling a book at 107
discount an the printed price. The
ratio of the cost price and the
printed price of the book is
(11 45 : 56  [2) 45: 51
(3) 47 : 56 (4) 47 : 51

124. By selling a bicycle for Rs. 2,850
a shopkeepér gains 144%. 1f the
profit is reduced 1o 8%, then the
selling price will be
(1) Rs. 2,600 {2) Rs. 2,700
(3] Rs. 2800 (4} Rs, 3.000
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128, By selling an article, a man makes

a profit of 25% of its selling price,
His profit per cent is '

{11 20 (2) 25
L2 1
3 163 @) 333
126. If A's income I3 50% less than
that of B's. then B's income is
what per cent more than that
of A
[1] 125 2 100
[ 73 {4 50
127. 1.14 expressed as a per cent of
1.91s
{1} 6% [2) 10%
13 600 (4 D0

128,

Two natural numbers are in the
rativ 3 ¢ 5 and their product is
21680. The smaller of the num-
hers 18

{1 38 2) 24
13 18 4 12
4
129, [[60% of A = Y ol B, then A: B
I5
(1 9:20 (2)20:9
M4:5 M 5:4
130. Two successive price increases

131,

132,

133,

of 10% and 10% of an article are
equivalent to a single price in-
crease of

11 19% 12} 20%

3] 21% 4] 22%

'u'rfi.:-x‘ + '.E_A‘."

=2 then x Is

drx-yd-x

equial to
i 4 E
0 33 @ 3

15 4'}’
H? l]5

An equilateral triangle of side 6
cm has its corners cut off to form
a regular hexagon. Area (in cm?)
of this regular hexagon will be

(1} 33 2 36

53
@ 543 () 3;—

The length {in metres) of the long-
est rod that can be putin a ream
of dimensions 10 m x 10 mx
amis

I 153
3 1042

(2) 15
(4) 5,3

134. If Rs. 1000 is divided between A
and B jn the ratio 3 ; 2, then A
Mum i \ ¥ 7
(1) Re. 400, (%) Rs. 500
(3 s, 600 . (4} Rs; 80O

135. What mustbe added io eagh term

of the ratlo 7 : 11, 30 as tgmake

iLequaltgd: 47

8 e iy st 3

(3 6.5 4 5

A sum of: money at-compound

interest doubles itself in 15 yepm.

It will become eight times of it-

sell in . Ll

{1} 45 years (2] 48 years

[3) 54 years  (4) G0,vears

- Buses start from a bus terminal

with a speed of 20 km/hr at in-
tervals of 10 minutes. What is the

speed of & man coming the
opposite direction towards the

bus terminal ff hé ests
at intervals of 8 minutes ;w
(1) 3km/hr  (2pdekm/br
(315 km/hr  (4) 7 km/h
134. If the circitimference of a ¢frcle is
decresseg-by 50% Uwen thie pert
centage of décreasé inits Brea is
(1) 25 T YeB0 i
(3) 680 4 75"
Al what réte per cent perannum
will a sum af Rs. 1,000 amount
to Re. 11025012 years 4t coir
pound interest ?
ms' @58
o Be o @es
140. What annual payment will dis-
charge a debt of Rs. 6480 due
in 4 years at 5% per annum
simple Interest? -
(1) Rs., 1,400 , (2), Rs.. 1,.50Q: ; ;
(3 Ra. 1,580 . {4] Rs.: 1.800
Theaverage of the first 100 posi-
tive integers is f
{11 100 2051 .~
13) 50.5 (4 40.5
142, In a family, the average age ol g
father and a mother Is 35 years.
The average age of the father,
mother and thelr only son is 27
years: Whal is the ageof the son 7
(1) 12 years (2} 11 years
(3) 10.86 years (4) H yeurs
143, Il 5 men or 7 women can &arn
Rs. 5,250 per day, how much
would 7 men and 13 women earn
e day+ v
{1 Rs. 11,600 (2} Rs. 11,700
{3) Rs. 16,100.44) Rs. 17,100

138.

138.

141.

144, If A and B Logether can cpmplete
i . apiece of work in 15 days and B
alone in 20 days, in how many
days can A alone complete (he

 work ?
(1) 60 {2 45
(3) 40 (4} 30

' 3
148. By walking at n of his usual

speed, a man reaches his oflice
20 minutes later than his usual
time. The usual time taken by him
to reach his office 1s
(1} 75 minutes 2] 60 minutes
{3) 40 minutes (4} 30-minutes
148. A can complete a plece of work
in 18 days, B in 20 days and C
in 30 days. B and C together slan
the whrk and are forced (o leave
after 2 days. The time taken by
i Aalone to complete the remain
Irig work is

m l!]dny!z 12} 12 days

. t.mdggm (4 16 days
147 A ! long, passet] a man,
* walking along the line in the san:
__direction at the rate of 3 km/h
" in 33 seconds. The speed of (he
train is
(1) 3Q.km/h
(2) 32 km/h

B 1
(3 33*'1"1* km/h

4) 35!,—31 km/h

Directions (148-180) : The pie
chart; given here represents the num-
ber of valid votes obtained by four st
dents who ¢éontested election for school
leadership. The total number of valid
votes polled was 720,

Observe the chart and answer
the guestions based on (L.

Yasin

Paramject
8|0

120

100°

Vishwanatl | Sivitranm
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148. What was the minimum number
of votes obtained by any candi-
date
(1 100 2] 110
(3 120 (4] 130

148. What was the winner 7
(1} Stvaraman (2) Paramjeet
(3 Yasin {4) Vishwanath

150. By how many votes.did the win-
ner defeat his near=st rival 7
(1) 40 2) 4%

(3 48 4) 50

PART-D
ENGLISH
COMPREHENSION

Directions (151-158) : In the
fellowing questions. some of the sen-
lenees have errors and some have
nomie. Find oul which part of a sen-
tence has an error. The number of that
part is your answer. Your answer Is [4)
Le.. Mo error.

181. He Is a untversity professor (1)/
it of his three sons {2)/ nefther
has any meril, (3)/ No error (4]

152, Alter knowing truth, {1}/ they

took the right decision (2)/ in the

matter. (3]/ No error {4)

Itis time you (1)/ decide on your

next [2)/ course of action. {31/

No error (4)

He who has suffered most (1)/

for the cause, (2} let him speak.

{31/ No error (4)

188, A cup of coffee {1}/ is an excel-
lent complement (2)/ 1o smoked
salmon. (3)/ No error (4)
Directions (138 - 160) : Sen-

lences are given with blanks to be filled
in with an appropriate werd{s). Four
alternatives dre suggesated for each
question. Choose the correct alterna-
tive out of the four,

188. The hotel was noi too expensive,

153

134,

(1) was It ?

(2} wasn'tit?
(3 s it ? {4) fan't it ?
167. Like humans, zoo animals must
have a dentist their teeth.
{1) il (2) filled
{3 Mlling [4) 1o be filled
158. It was very kind of you to do the

washing-up, bul you ____it.
{1] didn’t have to do

{2) hadn't todo

{3 mightn't have done

{4) musin't have done

iﬂ. He went ____ sea alone.
{1t 2] w
Blinte 7 4 on

180. The ol our civilization from
an agricultural society o today's
complex industrial world was ac-
companied by war.

(1) adjustment

[2) migration

(3 roule

{4) metamorphosis

Directions {161 - 1885) : In the
following questions choose the word

opposite in meaning to the given word.
161, FLORID

(1] Weak (2) Pale

(3 Monotonous (4] Ugly
182. VERITY

(1} Sanctity (2] Reverence

(3} Falsehood (4] Rarity

163, PERSPICUITY
(1) Vagueness (2] Dullness
(3) Unfairriess |4) Unwillingness
184. FERVENT
(1) Inexcitable
{2) Enduring
{3] Dispassionale
(4] Subdued
165. MEANDERING
(1)-Sliding (2} Sloping
(3) Strained |4} Straight
Directions (168 - 170 : In the
following questlons out ¢f the four al.
ternatives, choose the one which best
expresses the meaning of the given
word.
168, LUXURIANT
(1) Laxury-loving .
(2) Lovely
(3) Rich
(4) Abundant
187. CANTANKEROUS
(1} Cancerous
{2) Ferocious
{3) Quarrelsome
(4) Fissiparous
188. ONUS
(1) Sadness
(2] Happiness
{3) Responsibility
{4) Criticism
DERISION
(1) Humiliation
12} Embarrassment
13} Ridicule
{4) Condemnation

189,

170. TRITE

{1} Commonplace

{2} Clever

[3) Brief

{4) Impudent

Directions (171 - 173) : In the
following questlons a part of the sen
tence is bold. Below are given alter:
tives to the bald part at (1), [2) and 1230
which may tmprove the senience
Choose the correet allemnative. [n case
no improvement is necded, your an
swer 15 (4],
171. Obwviously he isn'l eat up taobe
good teacher.
(1) cut out
(2) cut in
(3 cut for
(4) No Improvement
Power got with money is the mes
craved for 1oday.
(1) sought after
12) wished tor
13) welcomed for
{4] No lmprovement
The brown shirt wants washing.
{1} has to wash
12] iz tn need of a wash
3] requires a wash
(4] Mo tmprovement
You are asked lo copy this lettor
word by word.
{1} word for word
2] word with word
{3 word o word
{4} Noimprovement
175. The weak man is a slave 1o his

senFuous pleasures,

(1} sensory

(2) sensual

[3) secondary

(4] Mo lmprovement

Directions (176 - 180]) : 1n thw
following questions. out of the fouy o
ternatives, choogse the one which can
be substituted tor the given waords;
sentence.
176. Anunderhand device resorted (0
im order to justify misconduct
(1) Subterfuge (2} Manocuves
(3] Stratagen |4 Complicity
Imposalble 1o describe
{1] Miraculous
2] Ineftahle
{3 Stupendous
4] Appalling

172

173.

174.

177.
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178. One who erlticises popular beliefs

which he thinks is mistaken or

LTI

(1} Philistine (2} leonoclast

[3) Imposter  [4) Cannibal

Detaining and confining someone:

(1) Interraption

(2} Interrogation

I3 Interment

4] Internment

Scicnce of the races of mankind

(1] Genealogy (2] Epistemology

(3] Ethnology {41 Sociology

Directions [181-185) : In the

lallowing questions, groups of four

wards are given. In each group, one

waord is correctly spell. Find the cor-

rectly spelt word,

181, (1} collaborate (2) comemorate

(3 colate [# choclate

(1) elrcuttecus (2) clalrvoyant

(3) chivelery (4] caveleade

(1) severety (2] sovereignity

(3 superiorly (4] serenily

(1) cummulative

2] comemmorative

13 accummulative

|4} accommodative

[} henldiction

[2) besmerch

3 benelicient

4 benevelence

Directions (186 - 190] ! n the

Lellowing questons, the 150 and the Jast

entences of the passage are numbered

¢ and 6. The rest of the passage is

split irio four parts and named P, Q. R

and 5. These four parts are not given

in Lheir proper order. Read the sen-

wenee and find out which of the four

combinations is correct. Then find the

COITECT ANSWET,

186. |. Education In India had a glo-
rous beginning.

P. But after the British rule, it
faced many changes.

@ 1 went on for centuries with
the same glory

R. English as the medium of in-
sirugtion had a very great re-
Sponse.

5. One of the changes was the
intreduction ol English as the
medium of instruction.

6. As the Britishers left we had
a complexity of opinions re-
garding English

178,

180.

182,

183.

184,

185,

{1) PQRS (2) QPSR
13) PQSR (4) SRPQ
187. 1. Itiseasy to criticize the people

at the helm, for the slow
progress In every {leld.

P. We are well aware that the
intellectuals are leaving our
country for better employment
opportunities. g

. Then queslion remains unan-
swered because our country
cannct show opportunities to

. theintellectuals.

R. Then, what about their obli-
gation to the Motherdand ?

5. First, we should ask ourselves
as towhat is happening to the
young intellectuals in Indla.

6. This situation of ‘Brain-Drain’
leads to a variety of problems.

(1) PS@QR (2 RPS@

(31 PSRQ (4) SPRQ

188. 1. It is the responsibility of par-
ents o teach the young moral
values in life.

P. Many children take advantage
of thelr parents® busy sched.
ule, ' '

. This results in children's ig-
norance of socidl values, '

R. The reason behind it 15 that
parents are quite busy nowa-
days, west f

5. Nowadays parentsspend very
meagre time with children.

. As such, the society {8 going
away from the value system,

(1) SRPQ (2) PQRS

(ISQRP  (4) SPOR

189. |, The man who does his duty
without any selflsh desire for
frult may bé called a sanyasi
as well as yogi.

P. The man who has achieved

much evenness of temper will
he serene, because his mere
thoughts are changed with the
strength of action,

Q. He would practise yoga. l.e.,
evenness of iemper, and can-
not but perform action,

R. The root of the matier is thai
one should not allow his mind
to it from object of desire to
another and from that to a
third.

5. But he who abstains from ac-
tion altogether is only an idler.

8

6. A yogl is one who 18 not al
tached o his ohjects of sense
or to action and whose mind
has ceased to roam restlessly.

(1) SRQP (2] RQPS

{3) QRSP (4} PRSQ

180. 1. This was an important day fo
Al at took,

P. Itwas acold day, but Alatook
would be warm.

Q. For the first time he was go
ingto hunt seals alone.

R. First he pul an his fur-lined
acket,

5. Then he put on mitlens snd

“"boots of deerskin to provec
his hands and leet from the
cold. :

6. Finally he picked up the gun
he had cleaned so carefully

the day before.
(1) PGRS (2) QPRS
(3) PRSQ (4 QRPS

Directions (191 - 196) : [n (he
following questions, a sentence has
been given in Active Voice/Passive
Volee, Qui of Lhe four alternatives sug
gested, select the one which best ex-
presses the same sentence In Passive /
Active Volre.

191. They have made a fllm based o
this novel.

(1) A flm was based on this novel

and made.

(2] A film have been made Pasel
on this novel.

{3 A Mm. based on this novel.
has been made

{4} A Ailm has been based and
mage on this novel.

182. The people couldn’t move me Lo
the hospital and the doctor oper-
ated on me al home,

(1) I couldn't be moved to the
hospital and was operated on
at home by the doctor.

(2) I couldn’t be moved to Lh
hospital and | had Lo be oper
ated on al home,

(3} | couldn't be moved to the
hospital and I was operaterd
at home by the doctor.

(4} 1 couldnt be moved o the
hospltal by the peaple and
operated on at home.

183, Why did he deprive you of the
membership ?

(1) Why you were deprived of the
membership ?



(2] Why were you deprived of his
membership by him ?
i) Why was he deprived of his
tnembership
|4] Why were you deprived of
your membership by him ?
The news has been brought te
us by him.
(1) He brought us the news.
(2] He has brought us the news.
13] He was brought the news to
us,
{4) We brought the news to him.
198. Not a word was spoken by the
criminal in sell-defence,
(1] The criminal spoke not a word
in self-defence.
[2) The criminal in self-defence
spoke no word,
(¥ The criminal did not speak a
word in self-deflence.
(4] The criminal spoke in sell-
defence not a word,

Directions (196-200) : In the
[ollowing passage, you have one briel
passage with 5 questions following the
passage. Read the passage carefully
and choose the best answer to each
guestion oul of the four alternatives.

PABSAGE

Every profession or trade, every
art and every sclence has Its technical
vocibulary. the function of which ia
partly 1o designate things or processes
which have no names in ordinary En-
glish and partly 1o secure greater ex-
actness in nomenclature. Such special
dialects or jargons are necessary In
technical discussion of any kind. Be-
g untversally understood by the devo-
tees of the particular sclence or art,
they have the precision of A mathemati-
cal formula. Besides, lhql' save time,
for it Is much more economical to name

194.

a process than to describe It. Thou-,

sands of these technlcal terms are very
properly included in every large dicto-
nary, yel, as a whole, they are rather
on the outskirts of the English language
than actually within ils borders.
Different occupations, however,
differ widely in the character of thelr
spectal vecabularies. In trades and
handicrafts and other vecations like
lwrming and Ashing that have occupled
great numbers of men from remote
Lsimes, the technieal vocabulary 1s very
old. An average man now uses these
in his own vocabulary. The spectal dia-
lects of law, medicine, divinity and
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philosophy have become familiar to

33 (4) | 34.(3)| 36.(2)] 36.(1)
cultivated persons. . m_.l_4
discuasion 41 1% | 42.02)| 43,01} 4404
(1) may b:mﬂw partof common | " g5 (3 | 4@, (31 | 47.(3)] 48.12
speec — e
(3} should resemble mathemat|- 53.(4) | 54.(2)] B8.(1) 56. [;:r]__
cal formula 57.(1) | 88.2)| s0. (2] s0.(1)
fined 1 fen- -
@ ::;:uﬁ‘:g con 0 sclen 8L (1) | 82.11)| 63.(14)| 6&4.i4
187. The writer of this article is B85, (1) | 68.(1)| &7.12]| 68 Ii_l_l
(1) a sclentist 89.(4) | 70.21| 7. @] 72.11
(2) a politician — _
. 74.(2)| ™. (2] 76.02
(3) alingust | 73.14) 2) (2) @ |
(4) a businessman T7.14) | 78.(3 | 79.(1| 80.(2
198. This passage is primarily con- || 81.(2) | 82.(3)| 83.{2)| B4.(4
cerned with -
(1) varlous occupations and pro- | | 85 (1) | 86.(11] 87.(1)] 8.0
{essions 8O, (1) | 90.(3 | 9L (3] 92. 4}
(2} technical E;“';:mw 03 (4) | 04.21| 98. (4| 96.(2)
(3) scientific undertakings . . -
199. 11 is true that 101. (4) |102. (2) | 103, (3] 104. (1)
(1) various professions and occu- | | 108, (1) [108. (2) | 107. (2)] 108. (1)
- fien interch — 1
Pl ns often Inferchant® | oe. @ [110. () [ 110, @3] 112. 4
(2] there Is always anon-technd- || 118 (2) |104. (1) | 118 (2)} 118.(])
cal word that may be substi- - _
tuted for the technical word 117. (3) |118. (1) | 119. (2)| 120. (4]
(3} the average man ofien uses 121. (2] (122, (3] { 123, (1}] 1Z24. (2]
in his own vocabulary what | [ 18 (4 |126.(2) | 127. (3] 128. 1)
was once lechnical language
not meant for hirg 129, {4) |130.(3) | 131. (21| 132.
(4) everyone is interested in scl- | | 133, (2) [134. (3) | 135, (4)| 136. (1)
entific findings —
L1 ; \ vl
200. In recent years, there has been 137. 13 13:'_',[.‘!' 138. (1) “ﬂ.i_
a marked increase in the num- | | 141, (3) |142. (2] | 143. (4} 144. (1]
ber of technical terms in the no- .
146. (1) | 147. (4)] 148. (4
menclature of 145. (2) |146.(3) “ o
(1) Farming 149. (1) |150. (1) | 151. (3)] 182.(1)
(2) Fishing 153. (2) |154. () | 158. (4)] 186. (1)
(3} Sports . 157. (1) |188. (4) | 168, (2)| 160. (4
{4) Government s
161. (2) [182. 13 | 163. (1)] 184. (4
== ANSWERS E e @) [186. (41 | 167. (3)] 188. 113
N f L (4]
1.3 a2ml saml e 1689, (3) [170. (1) | 171.(1) 1?12 )
50| e@l 7@l & 173.(3) (174.(1) | 175.(2)| 176. 2]
8.4 | 1003 13| 12 &-}H 177.(2) (178.(2) | 179, (4] l%}:_[-"
19.4) | 14. 3] 180 18,3 181. (1) |182.(2) | 183. (4] 134 [
17.2) | 18. @ | 19.@)| 20.(3 | ||188.14) [186.(2) [187. (4)] 188. 1
21.(4) | 23. (1| 28.(3)| 24.(2 189. (1) |190.{2) | 191. (3)| 192. (1]
25.12) | 28.11)] 27.(3)] 28.13 193, (4) 1194. (2) | 195. (31| 186. 11
26.(4) | 30.(3)| 31| 3211 197. (3 |198. (2) | 198, (3}| 200. 13
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=] EXPLANATIONS

LEBACEG—BD

F
l T ]‘
3

4]

= il

Stmilarty,
SUWY—TVXIZ

| 31*”

+1

+1

+| +] + ]

S A
MM L0 B
AC AD AE AT
I YR

#l sl +1
3.01) 5x5+2=27
Similarly, 9x 9 + 2 = 83
416x2-1=11
Similarly, 11 x 2 - 2 = 20
B.)A+B+E=> 1+2+5=8
Similarly, '
K+L+0D=114+12+15=738
8. [2) The resting place of pig is

called Sty. Similarly, the resting
place of cow is called Byre.

7.4} In order to ensure security,
police or defence personnel pa-
trot the area. Similarly, to cover
risk, Insurance is done.

BIZIADBC—»EHT

" G
| +4‘MT
+4

+4
+4

Similarly,

'L K—MPNIO
1 *41. A
+4
e
+4

8. (4) Except the number pair 9, 64

in all others perfect squares of two
consecutive numbers are given.
25 a6
| 1
(5P [6F
144 169
1 4
(12§ (13
100 - 121
1 4
(10 (1P

But,

9 64
1 1

BF . P
10, (3] Bulb is an item while all oth-
-4 are phenomena.

sl ) Except Tide, all other, terms
are related to both alr and water.
But tide is a regular rise and (all
in the level of sea, caused by the
attraction of the moon and sun.

12. (2) The position number of Y in
the English alphabet is an odd
number,
X =24,

H =8,

Y =25,
D=4

-1
A
13. (4 £ K g d
2

-1
CMalL

] _

1

TG ? F F I K
-1 +14

14. (3] Except in letter group IXYOQ,
in all others there is only one
Vowel,
In the letter group IXYOQ, there
are two Vowels

18. (4] Arrangement of words accord-

L=

&

ing to the Dictionary :
(4 Invariable
0 ey
8 i
3 Imriiiblc
2 !mnljnmq

16. (3] Bw.-.-_,.g.(_, .—.—u.].E..—ﬂ—.ﬁ

H—H L, g ¥ ,w

17.2 a [b] b [a] /&, [6] n / [a]
bb [n]/ abbn
18.(4) 6x5=30, 30x3=90
Bx6=48 48x4=192

126 70 42 14

18.[4) LWJL_JL_JLdJ
28 28 -28. -8

Therel'un:. the number 41 is
wrong in the series,

20. (3] Meaningful order of the
words :
3. Day -+ 5. Work = 1. Ehdm:nt
- 2. Night — 4, Sleep

10

21.[4)3+1=4
d+7T=11;
11 + 18=29:

22.(1)
2 e

3+4=7.
7+11=18

18 +29 = [47]

A
G
M—2 .0

S—td 1 ¥
Q. . S . BN
2. 13

875

B64 753

G427 |34

-111
24.02)

=1 -1l -1

15 o
LJ.._J‘L 4
= i w4

28. (2] Suppose the present age ol
“Ashok 18 x years and that of his
mother I8 i years.

5 years ago
3(x-5)=(y-5
=3x-15=y-5
=3x-y=10 S
5 years hence,
2x+58) =(y+5
=2x+ 10=y+5
Sy -Yy=-5 . i 1]
From equations () and (1)
x=15years

28. (1) O is the husband of P. M is
the son of P.

Therefore, M is the son of Q.
27.(3)

8 24 12
L_.*.'I"L_.‘.l‘l

Tth ——p22n4d
r.-.'_-)@ ........ _.1_...

U'Eth

Total number of boys in the row
=22+12-1=33

28. (3) There is no ‘V' letter in the
given word.

0. (4

Meaningful word = HIPPOPOTAMUS

30.(3 1 9 25 49 8]

L A

m? a2 =2 m? e?
Therefore, the number 50 is

wrong in the series.

31 (2) Suppose the pumber of
women boarded the bus at Delhi
i5x
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Therefore, the number of men
=2x
According to question,
2x-10=x4+5
=lx-x=104+5
~ax=15
Total number of passengers
hoarded the bus initially = 3x
=3x15=45

32. (1) Day before yesterday was Sun-
day.
Therefore, today is Tuesday.
Day after tomaorrow will be Thurs-
day.
Thursday + 3 = Sunday

33. (4) The statement implies thai
politicians win elections by the
votes of people. Therefore, neither
of the assumptions is implicit in
the statement.

34. (3} Both the Premises are Univer- |
sal Affirmative [A-type).

All men are women.

All women are crazy.

A+ A=A - type of Concluslon.
"All men are crazy”.

This is Conclusion .

Conclusion 11 is the Converse of
it '

Conclusion IV {s the Converse of
Statement Q.
BR2HOSPI
S A A
32574

Therefore,

POSTAL
| A A
725618
W 1L+7+3+5+2+6=24
4+3+1+3+2+5=18
Therefore,
2+5+3+447+1=22
AT (12+6) 18 =36
= |18 + 6] x 12 = 36
= 3x12=35

TAL
111
618

BA)SPARK—TQ
L +

+1 T
il

%] ¢
<

|

FLAME—SOGMBNF

::.*II

+1 .
+1

+]

M(1)6x5=730
J0x3+1=8]
Bx7 =538
GEx3+ ] =180
10x7 =70
TOx3+1=211

Similarly,

11 x10=110
1103 + 1 =331

40.(2)

13 Nurth

Wesl
ey

South

20m

Hlm =

i)

D 30 m

Required distance = AF

= (80P + (60 ‘

Jﬂ#ﬂﬂ+35ﬂﬂ=¢‘mum.1mm
41. (*) Option |2)

W=4x5+4

=24 =204+4

Option (4)

=g+ B5xd

=024 =4+ 320

Both options (2] and (4) are cor.
rect.

2.2)5x3+1=16
I6x3+ 1 =40
O9x3+2=29
20x3+2=80
" Therefore,

15x3+3=

48x3+3=147
43.(1) 1siRow = D
Znd Row = E
3rd Row = C
4th Row = A

fth Row = B

11

44, (2)
= [irst L
/r Sevuned [
!'/ Third [ayer
!

4 cubes each of the first and thir
layers will have paint on Lwo sidcs
only.

Therefore, total number of cules
having paint on two sides

=4x2=8

45. (3}

It I8 clear thal T is localed Lo 1w
Wesl of P,

46, (3) Sharks helong 1o class pisces
Whale is a mammal and Turle
belongs to class reptilia,

The iriangles are

AABC ; AABD @ AADC : AAFC
AFDC ; AAFB : aFDB : AFBC
AGBD ; AADE ; AGBE | AFDG
ADBE ;
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48, 4 R/\O/

—

2

51. {2) virtual and erect

B2. |1) Vitamin B g

53. 14 Chloropicrin

54. [2) Volume stress to volume strain

55. (1) adiabatic cornpression and rar-
rfaction

56. (2) Caeslum

87. (1] Phospholipid

8. 2] Mitochondrion

58, |4 Acetic acld

80. (1) Bolling point of heavy water is
lower than that or ordinary water

61. (1) Reapiration

62, {1) Arboreal

63.(4] 4,5, 1.3, 2

64. (4} V.D. Savarkar

85, (1} G.K. Gokhale

66. (1] Portuguese

67, (2] Cultural unity

68. {1} Trading blocks

9. (4} Leo Tolstay

70. {2} Tsunami

71. 12) Yandang

72. |1) Tropical

73. 4] 2n

74. (2 Convectlon

735, (2} B2.5° E longitude

76. 2} Lord Ripon

77. 14] Irish Constitution

78. (3] Praxima Centauri

79. |1) Parliamentary and Presidential

B0. 2] Planning Commission

B1. {2} Appointed

82.(3) Indian Foreign Service

83. {2) Mangrove

84. (4] Decibel

85. [1) Panka} Advani

88. (1] Mercury

87.(1) Red Rose

88. (1) Manna Dey

89. (1) has a micyoprocessor, but can-
rit be programmed by the user

90. |3 Maurix method

91. [3) Reserve Bank of India

92. [4) Treasury bill

83. (4] Muitilateral trade

4. (2] Monopolistic competition

50. [

| 98 (4) they generate

8. (4] Micro Economica

98. |2} Floating exchange rate

97. (3) Mitchiell Johnson

sound
waves -

88. (3) Nochange witt Rappen

100. (2) Net National Product at factor
COBL

101.{4) First number x second num-
ber ; o
= HCF % LCM
= 24 x pecond number = 8 x 48

8x48
.« Second number = T- 16

20, 28, 32, 35
2i10, 14, 16, 45
5|5 7., 8 35
7L 7 8 7
L, 1 & 1

103.(2) 2

SICM=2 xRx5xTx8

= 1120

. Required number

= 5834 - 1120 = 4714

103-[3] D+3-3

3+5=8
8+7=10

15+8=24

24 +11 =35

35+ 13=48

48 + 15 =63

'Eﬂi-'l'l"-"

104. (3) L'I'Hcky approach

If 0.5 = aand 0.3 = bthen,
. .b“'"
L
Expression = —g————i
presaon a? s ab+ 1P
_la+blia® —ab+b?) _

a® ~ab+b?
=05+ 03=08

108, 1) [Ty pprase
1 + 0.6 + 0.06 + 0.006 + 0.0006
+.=1686..=18

= lﬁ-'-]E

8 3.
106, (2] Expression

Jn.ooe < DOAB X D16 x 008
" Y 0002x00006 x 00002

a+b

12

Ox36x16xB
-J "ZxBul

=3x2x3x2=36

1070

If the first divisor is a multiple of
second divisor, then the remain.
der in second case = réemainder
obtained by dividing the first re
mainder by the second divisor.

~ Remainder =21+ 18=2

108.() J50B = J53 703 = 03

108.(3)
' 12 4
0.12i212 .. =g o= E - :ﬁ

JEI-6"

=2lx-le-1
=qx=-F+1=-2
= x=-]

11L(3 Let the numbers be 3xand 4x
~ Thejr LCM = 12x
- 12x=84

-I—=T
=X"12

~ Larger number
sy =4 x7 =18

112. (4) | Tricky approach

Let the capacity of the drum be «

Ytres.

3% 497X
4 12
ax Tx
el 1y

AT RET)
Ox-7x
=30
.12
X -

_n*ﬁ—aﬂ

= x=6x 30 = |80 litres
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113.(2) 675 =5x5x3xax 3
" Required number = 5

1 l 1 1
114.41) 1—=+11=+111=+1111=
W 2 2 p o

= 1238

|
116, (2} 0.001= —
16. (2} 599

44]:40.15

x 1B =021

llﬁ[J

A1 x16
lelﬁle
oy

n7.G3a'-b'=(a’+ Flla+b) {a- «'Ji
thuin:d numbcr
=3+ 10(3-1=

118. (1] | Tricky approach
nE +b* +ab
ad . pd
a® +b? +ab
" la -Blla® + b2 + ab)

—

r

i

B | —

I1-9
118. [2) Tricky approach
256 = g and 144 = b, then

a®-b*
a-b

Expression =

la-b=256- IM:”?‘

fa + bia - b)
T la-b
= 256 + 144 = 400

120. (4] | Tricky approach
o - =19
= 10¢-¥ =10
=a=10
121.(2) Gain = 11x- 10x=Rs. x

Galn » 100
Cosl price

=a+h

o Galn % = x 100

-Fxl{ﬂ—lﬂ o

122.(3) Marked price = Rs. 50
3.P. after discount = 80% of 50
= Ra. 40

i

If the CP nr article be Bs. x, then ]

125
‘”“‘:,L.m

43 = 100
=T s T
123.(1) Let the CP be Rs. 100.
. SPe=Rs 112
If the marked price be Rs. x, then

WHhofr=112

112x100 1120
- W = Ihl 9
- Required ratio

1120
= I:Iﬂ '

=900 : 1120 = 45 : 58

124.(2) |Tricky approach

C.P. of blcyele

100

—m * 2850 = R, 2500

S.P. for a profit of 8%

108
= ﬁxﬂm = Ra, 2700

128. (4} If the S.P. of article be Rs. x.

X 3
then fis CP = x-- = Rs. —x

Rs. 32

X,

-~ Galn % = %100
3x
4

100
W 200 asly,
3 3
128. {2) | Tricky approach
Required precentage
a ————x 100
m!
= 100%

 1237.13 Required percentage

128. (1} Eét the nambers be 3x and 5x,
Sodxw Gx = 21680

2160
== 3—:‘5"—144 =12 % 12
= x= |2
~ Smaller number

=8x=3x12=36

13

A = B0 3
| 120. (4} W=B“E

Y,

=?j'||,x';_: ] 3

130.(3) | Tricky approach!

Slngle equivalenl percentapy in
Crease inoprice

;
| {mum—-m]q i

131, [Ty approch

Arx+yd-x _2
;3 +x -y3-x |
By componendo and dividendo

=I—=:_:,

=
i-x  2-1

Stuaring on both sides, wi gl

J+x
3-x

=3+ x=

=4

27 - Yx
=0y 227 -0=24

29 12

0 5

(3 T_i'_j{*ky approach |

= X=

132.

Side of the regular hexagon

1
= —xBG=2¢cm
3

Wi
~Area of the hexagon = ; it

33

—xZ 2

643 Hrj. Cm,
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133, (4} | Tricky approach
Length of the longest ror

0% +10% + 52

= o

= Jo95 = 15 metr:

134. () | Tricky ap apprmch

A's share

3
= Rs. (Exlﬂm]:m.&m
135. (4 Let the required number be x.

AL
Cllex 4
= 28 + 4x =33 + 3x
=x=33-28=5

136. (1) [ Tricky approach |

Cubing on both sides, we have

1+

Ralerb
E=1

100 !

Required Ume = 45 years

{3} Distance covered in 10 mir-
utes at 20kmph = distance ooy
ered in B minutes at (20 + x

kmph

137.

10 B
= 20 % E = E{-]mﬂ'i'x]

= 200 = 160 + Bx
= Bx =40

=X= %J:fi kmph

138.(2) | Tricky a ach
Clrcumierence = Emlmewhbhl
~. The decrease in area = 50%

IIT

139, (1) A = Pll+—E--
v, 10

2
[1 +L]
100

11025 [1 L]ﬂ
= 10000 100

110250
= 71000

H(_]

L IIIE
=14+ lm
_r_c_'-'_'.
~ 100 100
=r=5%
m{zlbﬂmmHﬁﬂtH
R=. 2
xx3dB
[” mn)
xx2x5 xxlxh !
(oo R
:m
116x  110x lﬂx

= 700 Hﬁ lﬂ&
= B450
= 115x + 110x + 10824 mux '
= G450 x 100 - Bl
= 430 x = 6450 x 100 ,
8480 x 100
430 -

K ntll'l '1500

o (TR .

I+2+3+.;...,hn-5—l%:—ll
-, Average of these numbers
atl
"2
i} lﬂl}-lrl:m
2 2
142. (2} Father + mother ,
2 2 % 35 = 70 years o B

Father + mother +8on

=27 x 3= 8] years

- Son's age w 81 - 70= 11 years
143. (4) 5 men = 7 women

7 317 E

 Tmenm g X m g,

v, 7 men + 13 women

49 114
=-_5-‘-+'l'3-_.._ﬂ.-:—.- BUg
Now,

.- 7 women = Rs. 5250
1

T 5

= 5‘21?0 lu\-hl?lﬂ]

14

women;

1)

1
{A+B)s'ldays work = 5

1

B's | day's work = E
+ A's | day’s work

11 4-3 1

— — i ——

15 20 " 60 60
- A alone will do the work in 60

4t [Ty o]

'-;—'dunmum-'u-uammu
20 minutes

1
* 3 rd of usual time

= 30 minutes
2 Usual time =20 x 3
= 50 minwtes

1148 (3 (B #»Cl's 2 dgs' work

RIS
5 pan

l
mmnl"‘-‘*pﬂrt
L"Time taken by A to complete
this part of work
= gxlﬂ = 15 days

| 147, (4) Ilth:npeed of the train he x
kmph, then relative speed
= {x- 3) kmph.

b
*[x-ﬂll:l 18 m/sec
. 300
fom——p
|x-3]xﬁ

= 5M00=33 x5 |x- 3
= 30.=11 (x-3)
‘w Fla= 33 = 360

=33

. ”I';?Ta -Eﬁ—lunph

lil.[ﬂ Yasin got the minimum votes.
: '38D"wm T20 .

Al

' 720
LB0"w ﬁxﬁﬂwlﬂﬂ_
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149, 1} Svaiman got themaSimuin’
volea, e
E o J20 = 2400 voes |
d60

He was the winner,

150,11} Angle of the difference of L

voles of the winner and the near-
e85 rival = 120 ~ 10 = 20°
- 3607 = 720

720
. g —— 2=
LA e 360 40

151 [3) Neither is used for two things,
For more than two things. none |
should be used,

r.rnl

152. 1) After knowing the i!llm
153.{2) It is time/It is high time is fol-

b & correct usage, -

lowed by the clause in simple
past that shows present time,
Hence, decided on your next
should be used,

184. () Replace let him speak by
should be allowed to speak.

185. 1) Mo error

56. (1) was it ?

L8701 Gl

158, (1) mustn'l have done

159. (2} 0

160. (4} metamorphosls

181121 The word Florid (Adjective)
means : rosy; gaudy; omate; red; |
having too much decoration or |
detail,

The word Pale [Adjective)
means : light in colour; not strong
ur bright; having skin that is al-
most white becanse of illness.
Hence, the words florid ancd pale
ATE ANy oS,

162.13) The word Verity (Noun)
means - a belief or principle
about life that is accepted as
trues truth).

Hence, the words verlty and
falsehood are antonymous.

183.11} The word Perspiculty (Noun)
means : clarity.

The word Vagueness (Noun)
means ; no cladly In a person’s
rmirul.

Hence, the words perspleulty
and vagueness are antonymous,

164. (3] The word Pervent (Adjective)
means : having or showing very

surong and sincere feelings about
zomething; ardent.

tive) m oot influenced hj.r
.mmwmﬁm.

Hence. the words fervent :and
| «dispassippate are antohymous.
155 (4} The word Meandering (Adjec-

tive) meins

curveds & course thal does ncl

Jdollow a Bmhl [.Hﬂ.h

Henee. the words meandering

and straight are antopymous
188. (4] The word Luxuriant (Adjec-

tive] means ; growing thickly and

imot. straighi: E 182. 2}

strangly; rich in something that |

is pleasant or beautliul; abun
dant.

1687. 13} The word Cantankerons [Ad-
jective) means ; bad temperod
and always complaining.

Hence. the words cantankerous
and quarrelsome are synony-
THOnS.

1688. (3! The word Onus (Noun)
means : the respansibility for
sumething,

Look at the sentence :

The anus is on emplovers Lo ol
low health and salely laws.
169. (1) The"word Derision [Nodn)

means ; ridicule; mockenv, a
strong feeling that somebody
something is ridicwous and nol

warth considering serionsly,

17011} The word Trite (Adjective)
means : dull and boring bocause
it has been expressed so many
times before; not original; banal;
very ordinary and conlaining
nothing that ts Interesting or im
portant.

Henee, the words trite and com-
monplace are synonymous.

171. (1) Phrase ‘cut out’ means : o
have Lhe. qualities and abilities
needed for something,

172.(4) No improvement

173.(3) reguires a wash

174.(1} word for word mcans : in ex-
actly the same words or when
translated exactly equivalent
words.

178.(2) The word sensual (Adjective)
means : connecled with your
physical feelings: giving pleasure
o your physical senses, espe
cially to sexual pleasures.

178. (2} Manoeuvre

177.(2) Ineffable

15

r. 185. (4] Correet spellings o

| 178.12) leonoclas

178. 4] lnermmeni

180. (% Ethnology

IBL (1) Correct spellings o
words are ¢
Late and

COTTIITICITW L

hocokat

words are - cireuitous, ol h
and eavalcade

183. (4] Correct spellings of o

words are : severily, soveronn
and superiorit,

B4 (4} Correct spellings of ol
words are  comulative on

imernaralive and acevmlbo o
Ll
words are o benediction

smirch and benelicend

1886, (2] Qrsk

187. (4] SPH(}

188. (1} SR

188. (I} sRQF

180. (2} QPRS

181, (3 A film. basedl
has been made

nir this o

Correct spellings of il

192.(1) | couldn't be moved o

hospital and was operated o
home by the doclor

193. (4) I'r'-"!!.'-.' WETE Vo |,1|,-|;| (RN
your membershipy by him

184 (2] He has brought e new:
(SCS
195. [3) The cnminal did not spx

ward tn sell-delence

{196, (3 shoold resemble vatbwoan

lormula
197.13) a linguist
198. (2] technical terminglogy

198, (%) the averaze man often use - o

his own vocaliulaey whar
once technteal langoags o
meant for him

| 200.14] Government

Inspiring People



